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10g 2g
How many coins equal the weight of the note book?
(1) 6 (2) 5
@) 3 4) 4 C )

%mmmm%

There are 11 girls and 14 boys. If they pair up, how many
boys will have no partners?

(1) 2 2
3 3 (4) 4 ()

How many triangles make up the square?

1 7 (2) 8
3) 9
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10.

11

12.

How much change will Sally get if she pays with a 50¢
coin for a 15¢ piece of candy?

(1) 25¢ (2) 30¢
(8) 40¢ (4) 35¢ (

In an hour’s time, it will be

(1) 5 o’clock (2) 2 o'clock

(3) 4 o'clock (4) half past three (
ruler pencils pencil erasers

The ruler is as heavy as erasers.

(1 5 2 2
3 3 (4) 4 (
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13. Nick is 9 years old. In 20 years' time, he will be
years old.

1) 11 @) 19
3) 29 (4) 30

14. 50 - 28 =

(1) 12 2) 22
(3) 32 4) 42
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15.

16.

Write in words.

Y I
! O

Fill in the missing numbers.
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17. Colour the 2 numbers that make 84.

H®WE®®®

18. a) 5 morethan 54 is
b) 9lessthan 60 is

19. There are 6 rows of 3 beads.

There are beads altogether.

20.

This figure is made up of 1 and
1
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21.

balloon paper clips

When deflated, the balloon will be 6 paper clips shorter.
It will be paper clips long then.

22,

The watermelon weighs kg.

23. a) The number just before 50 is

b) 38 comes just after
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24. Colour % of this figure.

25. How many 10¢ make $1?

26.

It was o'clock an hour ago.
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27. Tina walked 24 km on a hike while Carrisa walked 3 km
less. How far did Carrisa walk?
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28. Chris paid $15 for 5 slices of cake. How much did each
slice cost?
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29. 1 bag of rice weighs 3 kg. How much do 4 such bags of
rice weigh?
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30.

This graph shows how many correct answers each person
gets.
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Carmen Theodore Gabriel
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Each 7/} represents 2 correct answers

a) Carmen gets correct answers.

b)  Gabriel gets more correct answers
than Theodore.

c)  Carmen and Gabriel get correct
answers altogether.
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Choose the correct answer and write its number in the
brackets.

1. What comes next?

eGSRk

1) [l ] @) 3

(3) X (4) H (
2. 45and make 65.

(1) 10 @) 15

(3) 20 (4) 30 (
3. 8X2=286-

(1) 50 (2) 60
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4. What is missing?

ORORORO,

(1) 10 2) 13
(3) 14 (4) 15 C )

0000008000

2nd

Which super bouncy ball is different?

(1) 8th (2) 7th
(8) Sth (4) 4th ()
6.
6
5
4
3
2
1
0
Steven is units tall.
(1) 6 (2 2
@) 5 4) 4 ()
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